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INTERMEDIATE EXAMINATION - 2022 (ANNUAL)

Model Set

Time :- 3 Hours 15 minutes aied Uy Full Marks - 100
9 : 3 ©e 15 M quiies — 100

Political Science (Elective)

IoriIfaeme (Rfes®)

Total No. of questions — 100 + 30 + 8 =138
HA T DI F=T — 100 + 30 + 8 = 138

ghenrfelalt & fore [A3or —

Instructions for the candidates :-

1.

wiendl OMR STR—UFd WR 30T U YRAO®I HHid (10 3l )
araey ford |

Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTef ALY 37U TRl H B IR G |

Candidates are required to give answers in their own words as far

as practicable.

SN IR RR R Y g ofd gurie ffdse &vd 2 |
Figures in the right hand margin indicate full marks.

9 UT UF Bl SgFYad Ug & oy qRienieil &1 15 fee &1 afaRad

Ty feam T 2|

15 minutes of extra time has been allotted for the candidates to

read the question paper carefully.

I8 Y—gRAHT a1 Wusl H & : WUS—3IA UG WIS |



This question booklet is divided into two sections : Section-A and
Section-B.

Yus—3 H 100 TS U €, H @ fb8l 50 YAl BT SR oAl
A 21 50 USHl W 3AfH BT IR T W UAH 50 B & HATDHA
BT Udd & fay 1 o FMeiRd €1 $99a1 SR < & fory Sucre
PR MY OMR SR U3& ¥ AU Y ¥&l [ddey &7 el / &lal didl

U9 9 We B | A fl UR & gReR / TRd Uy / < [/
g enfe &1 OMR STR U5d H WANT oA A1 8 gl U

gRomg M= BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only first 50 will be evaluated. Each question
carries 1 mark. Darken the circle with blue / black ball pen against
the correct option on the OMR Answer Sheet provided to you. Do
not use Whitener / liquid / blade / nail etc on OMR Answer Sheet,
otherwise the result will be invalid.

Gus—g H 30 g SR U & | IS B foly 2 3w FeiRa 8, fori
A B 15 Tl BT IR <A1 A 7| ge SifaRad 59 wre # 8
& ST v g U 2| R 9 {6l 4 Ul &1 SR oA eifvar
g1 UAD U B oY 5 3 MR 8 |



In Section-B, there are 30 short answer type questions, each
carrying 2 marks, out of which any 15 questions are to be
answered. Apart from this there are 8 Long answer type questions
in this section, each carrying 5 marks. Out of which any 4

questions are to be answered.

8. Pl YR & Seldciivd IUHRYT BT TIRT QUITAT afoid & |

Use of any electronic appliances is strictly prohibited.

TYus—3 / Section-A

axqf~ss 939 / Objective Type Questions

T3 T 1 W 100 6 & UAd W & foly IR fddew fou v € R &9 &
HE B | 30 gRT g MY Wal fdded & OMR—3c R faffgd &3 | amuadl 100
gl # ¥ fhgl 50 U B B SR o B | (50x1=50)

Question No.- 1 to 100 have four options, out of which only one is correct.

You have to mark your selected option on the OMR-Answer Sheet. Out of

100 questions any 50 questions are to be answered. (50x1=50)
1, 9 AT RA H B W Tl Al HigE § °
(A) Thcelld ezl (B) fg<eila gawern
(C) 9gaeiig wgaer (D) Ushel AMEUT Sl el

Which party system exists in India at this time ?

(A) Single party system



(B) Bi party system
(C) Multi-party system
(D) Single dominant party system

1971 H 99 ‘HET TSd-aT DT I FT AT ?

(A) TRIET g3l (B) 3fvexT BCrRm

(C) &g gl &1 38 (D) &1 ¥ STRATHA BT 4T
What was the goal of the ‘Grand Alliance’ formed in 1971 ?

(A) Remove Poverty

(B) Remove Indira

(C) Rise of regional alliance

(D) Lack of discipline in Parties

fe ammuely uifdat &1 dife & a1 I |ohdar § 2
(A) MR AT it (B) STl &
(C) 9Reig HRgfRe uret (D) FHTSIaTal UIet

Which can be placed in the category of leftist parties ?
(A) Bharatiya Janta Party (B) Janta Dal

(C) Bharatiya Communist Party (D) Samajwadi Party



YR &1\ F9T BT 7o fhd ST & 3MMER R gafm ?

(A) fopsa IrorT (B) ATSvedTH ANl
(C) It ATSTAT (D) ®feve e arsrn

The Constituent Assembly of India was formed on the basis of

which plan ?
(A) Cripps Plan (B) Mountbatten Plan
(C) Wavell Plan (D) Cabinet Mission Plan

Afderd = J91 § e U fhdd gRT UK d fhar o ?

(A) STaTERelTd 8% (B) Sfo o U9

(C) ¥ R1a FETH (D) RER det¥ 1S Ul

The “Objective Resolution” was presented in the constituent

Assembly by whom ?
(A) Jawahar Lal Nehru (B) Dr. Rajendra Prasad
(C) Bhim Rao Ambedkar (D) Sardar Vallabh Bhai Patel

1975 H b SR R IAMUTABIA BT BN &b T off ?

(A) & (CIRISIESIERY

(C) 3=<iRe Teas] (D) fa<ira Have

On what basis was the Emergency declared in 1975 ?



(A) War (B) External attack

(C) Internal disturbances (D) Finacial Crisis

Ffgem= a9 § urey @ity & ege i o ?
NSRRI (G IEIERISIE

(C) §io TH0 1@ (D) Sio 3FETH

Who was the chairman of the “Drafting Committee” of the

Constituent Assembly ?
(A) Dr. Rajendra Prasad (B) Maulana Azad
(C)B. N. Rao (D) Dr. Ambedkar

e F¥gul pifc &1 SMgar fohar ?
(A) gfee=T Tfeh (B) STAY®TE AR

(C) AR <aTg (D) ey =R R
Who called for Total Revolution ?
(A) Indira Gandhi (B) Jayaprakash Narayan

(C) Morarji Desai (D) Chaudhary Charan Singh

YR ANTRGT Bl fhd= difeTd e R urd & ?
(A) 7 (B) s

(C)e (D) 8



10.

1.

12.

How many fundamental rights are guaranteed to the Indian

citizens ?
(A)7 (B)s5
(C)e (D)s

= § | B9 Aiferd ffereR T8 2 ?

(A) FHFT &7 THR (B) 99T & fawg feR
(C) arffies Wd=dT &I IIfTHR (D) TRk &7 STfEdR

Which of the following is not a fundamental right ?
(A) Right to Equality (B) Right against exploitation

(C) Right to religious freedom (D) Right to property

‘DI BT T RV I Hal d forar T § ?
(A) 3mRar (B) fse=
(C) TSt (D) sitesferar

Where is the term ‘Equal Protection of the law’ taken from ?
(A) America (B) Britain

(C) Canada (D) Australia

qIwh AANOAR I gy €

(A) 18 T & TIDI BT AATMTDTR

7



13.

14.

(B) 21 @y @& |1 Tagdedi Bl AATEHR
(C) SET & |l b SA—YRul Bl Ad 1 BT FAM ATHR
(D) 3ru=t UfrSIerl &1 g &1 AfTHR

Right to Adult Franchise means :

A. Franchise to 18 years old

B. Franchise to all young men of 21 years

C. Equal right to vote for all adult females and males of the
population

D. The right to elect its representatives

gferffer Sidds &1 MR & —

(A) Tac= =grarTferaT (B) \eTaT rdTfeTaRt

(C) drd |1 (D) ag%p ANBR
The basis of representative democracy is -
(A) Independent Judiciary (B) Strong Executive

(C) Lok Sabha (D) Adult franchise

gffe SReR @ g faRivar 2

(A) STRERIT TYhN (B) GHTcHD AP

(C) ST WRDR (D) TEATHS TP

The main feature of the Representative Government is :



15.

16.

(A) Responsible Government (B) Federal Government

(C) Parliamentary Government (D) Presidential Government

Y GG Y AT A= AT MYl bl FGfad fbaes giRT ol Siredl
g7

(A) Irgafa (B) wer=HA

(C) ArHaT 31eged (D) fafer #=

The Chief Election Commissioner and the other election

commissioners are appointed by whom ?
(A) President (B) Prime Minister

(C) Speaker of Lok Sabha (D) Law Minister

q&] AT Ykl bl Dicblel fbaT BIel & ?
(A)5 9 7T 65 9§ DI AT TH S W U &
(B) 6 aY T 65 I§ I AT dF oIl W1 U &
(C) 7 9 & arafer T
(D) 68 a9 @I 3MY Tb

What is the tenure of the Chief Election Commissioner ?
(A) 5 years or 65 years of age whichever is earlier

(B) 6 years or till the age of 65 whichever is earlier



17.

18.

19.

(C) For a period of 7 years

(D) Upto the age of 68 years

TR & YA :

(A) frgaa &1a &
(C) 79I 8 &

The Prime Minister of India :
(A) is appointed

(C) is nominated

IRA & AU & P9 JJees & T 9RT & Ireufd R ASIWANT

FATAT ST Hebell & ?

(A) 31T 356
(C) erges< 76

Under which article of the constitution of India, the president of

India can be impeached ?

(A) Article 356

(C) Article 76

qRd H Ieufaq & Refay & —

(A) FRPT & AT & FHA

10

(B) faiffert &t &
(D) &% % BIg T

(B) is elected

(D) None of these

(B) erge8T 75
(D) 313 6

(B) Article 75

(D) Article 61



(B) BRI & TA-R—I-Rel & A

(C) fafeer #erT & FAM

(D) yd |\ifdgd 99 & IS¢ & FHMA

The position of the president of India is similar to -
(A) Like American President

(B) Like the Governor-General of Canada

(C) Like the Queen of Britain

(D) Like the Former President of USSR

20,  NISUQH] B HERIA & o7y =gAqH S T © 2
(A)3Tg 25 99 A PHH T & (B) 3mg 30 99 A PHH 7 &I
(C)3mg 21 ¥ ¥ &H 7 & (D)3 35 9 & HH 7 &

What is the minimum age to become a member of the Rajya

Sabha ?

(A) Age should not be less than 25 years
(B) Age should not be less than 30 years
(C) Age should not be less than 21 years

(D) Age should not be less than 35 years

21. TRT H SRTSEUf &1 fHataq fear omar @ -

11



(A) Tt BT e Wl gt

(B) 39 fMatad Aved §RT Sl Mgl &l AT ©

(C) ¥ & ASHT gR

(D) H9E B Tl Il B AR R

The Vice-President is elected in India :
(A) By the state legislature

(B) By the Electoral College

(C) By the members of the Rajya Sabha

(D) By the members of both houses of the Parliament

22. ST & HRA & forv [HeiRd wvam @ -
(A) 25 (B) 50

(C) 75 (D) 100

The Rajaya Sabha has fixed numbers of members for quoram.
(A) 25 (B) 50

(C) 75 (D) 100

23. AHAAT B AfTHTH Fad G
(A) 552 B &l & (B) 545 B |l &
(C) 525 B HHT & (D) 550 B T B

12



Maximum number of members of the Loksabha :
(A) Can be 552 B Can be 545
(C) Can be 525 (D) Can be 550

24, JISIFAT BT FHTUfT B9 8 Fbdl & ?

(A) Tt & faifaa aewt g Hatfd

(B) IS0 T @ el gRT fAaifaa
(C) SU—TERy v
(D) e & |4 Aewdl g1 fHaffad

Who can be the chairman of the Rajya Sabha ?

(A) Elected by the elected members of the Rajya Sabha.
(B) Elected by members of the Rajya Sabha.

(C) Vice-President - Ex-officio

(D) Elected by all the members of the Parliament

25. 73 § AU GINEE gRT UETIT IoT GRS T Bl fhdT & ?
(A) 2 ad (B) 3 @
(C) 4 a9 (D) 5 I9

What is the tenure of Panchayati Raj institutions under the 73™

constitutional amendment ?

13



26.

27.

28.

(A) 2 years (B) 3 years
(C) 4 years (D) 5 years
73 d WA GeNEE gRT YR GAgr § id A1 sy Sirel Tl &7

(A) 9 df 3rgxgen (B) 10 & 3L
(C) 11 df Srgega (D) 12 & srqRpe

Which Schedule has been added to the Indian constitution by the

73" constitutional amendment ?
(A) 9" Schedule (B) 10" Schedule
(C) 11™ Schedule (D) 12" Schedule

e &1 e fHaifad 89 @ foru feaer Su emaeas 287
(A) 18 ad (B) 21 &
(C) 25 a9 (D) 30 ¥

What is the minimum age required to be elected as a member of

the legislative assembly ?
(A) 18 years (B) 21 years
(C) 25 years (D) 30 years

fedl M I A =T &1 SfIdHaH Srf= Wag T 8 —

(A) 400 I (B) 425 I

14



29.

30.

(C) 500 A (D) 545 Ha=

The maximum Permissible limit of members of the assembly of

any state is :-
(A) 400 members (B) 425 members
(C) 500 members (D) 545 members

g uRyg &1 Hewy faifd b & forg <gAaq 99 @
(A) 18 T (B) 25 a9
(C) 21 a¥ (D) 30 ¥

Minimum age required to be elected as a member of the legislative

Council is :
(A) 18 years (B) 25 years
(C) 21 years (D) 30 years

HMAGT BT -1 AJeoe e DI IS YA & bl vy w fagr
T BT fd <ar ® ?

(A) 3 eeE 115 (B) sz 183

(C) arfeig 221 (D) 3 Tzs 249

Which article of the constitution gives parliament the power to

legislate on any subject of the state list ?

15



31.

32.

33.

(A) Article 115 (B) Article 183
(C) Article 221 (D) Article 249

YRA & G H uge G Fened f&d a9 gor —
(A) 1951 (B) 1952

(C) 1953 (D) 1954

In which year was the first constitutional amendment made in the
Indian Constitution :-
(A) 1951 (B) 1952

(C) 1953 (D) 1954

Ifoenfae fovg w® iy <9 & fov gdiea R & H—I—6H
fopaw =armefen @) 99 8- arfsy ?
(A)3 (B) 1

(C)7 (D) 5

A bench of the supreme court to decide a constitutional matter
should consist of at least how many judges ?
(A)3 (B) 1

(C)7 (D) 5

goTa~d ¥ Hedl ARfa gfdded & g 7ol IRl &l fhas Wl «)

R DI eird feam ar ?

16



34.

35.

(A) fexada (B) vz
(C) Prerdm (D) S # 3 ®Ig e

The Balwant Rai Mehta committee’s report has suggested the

Panchayati Raj Institutions at how many tiers ?
(A) Two Tiers (B) Single Tier

(C) Three Tiers (D) None of the above

f=forRad & 9 59 g 71 2= Rl sl &1 dara foar o ?
(A) e ofia (B) araTell &
(C) wd= urei (D) S0 THO &0

Which Party had launched anti-Hindi movement ?
(A) Trinamool Congress (B) Akali Dal
(C) Swatantra Party (D) D. M. K.

IRl ARSTE BT fdeds fod oy # gar o ?
(A) 1990 (B) 1991

(C) 1992 (D) 1993
In which year was the Babri Masjid demolished ?
(A) 1990 (B) 1991

(C) 1992 (D) 1993

17



36.

37.

TRT I ¥ af¥re FfTarR 2 :
(A) = B U (B) &= 3R A1 & U™
(C) &= & U™ (D) freft & Uy =7t

Residual Rights in the Union of India is vested in :
(A) States (B) Centre and States

(C) Centre (D) None

GG B YR & STTAR 9RA YT 7~ I & difdh —

(A) 98 HgFd I FY B GG T |

(B) 98 IICHITSA & IS ¥ |

(C) ag faxft facsh &= & o= 181 & |

(D) I9HT SR & fh a8 RIS ¥  JRefl & IG—IEd H UAT
JHTET < |

According to the Preamble of the constitution, India is a sovereign

state because -

A. It is a member of the United Nations Organisation

B. It is a member of the Commonwealth

C. Itis not subject to any foreign authority

D. It is its responsibility to contribute to the maintenance of

International peace and security

18



Afaem & by dgs o Hifelds dl Bl SirsT ?

(A) 1951 BT Ygell Al Hee (B) 1971 @1 244l wfaem=
RNIEE]

(C) 1976 &1 42df Afdam Hemed (D) 1978 &7 444t AR H2ed

Which amendment to the constitution added fundamental duties ?

39.

40.

A. First constitutional amendment of 1951
B. 24" constitutional amendment of 1971
C. 42™ constitutional amendment of 1976

D. 44" constitutional amendment of 1978

“qRT H&Id: Ul I 2 39 fdaR & gfadres 2

(A) €0 S0 g (B) Sfio g0 Sireh
(C) #ik¥ <= (D) 3RN® T

“India is primarily a Unitary state” an exponent of this idea is :
(A) D. D. Basu (B) G. N. Joshi
(C) Morris Jones (D) Ashok Chandra

TP ord & foru smfRerd e § -

(A) Sfaem™ @1 \atadr (B) ¥ads Haled =IITerd
(C) wifeTar &1 favre= (D) Sudad <l

The indispensable feature for the federal structure is :

19



41.

42.

43.

(A) Supermacy of the constitution

(B) Independent Supreme Court

(C) Division of Power

(D) All the above

IR Wfder # awad! gl & IR fed Qe A o T ' 7
(A) 3R®T (B) RacsRels
(C) sifegferan (D) wfaerd W

From which country is the insipiration of concurrent list in the

Indian constitution taken ?
(A) America (B) Switzerland
(C) Australia (D) Soviet Union

1 & | o awadl g & g g ?
(A) Riaar (B) fag=h ==or

(C) ot (D) faare 3R fdarg fawws
Which among the following is the subject of concurrent list ?
(A) The coin (B) Foreign debt

(C) Jail (D) Marriage and Divorce

IRA H Aldied f[ddb=idror BT ged fba dafa = faar ?

20



44.

45.

(A) IR |fafa = (B) getg=aRTa HedT AfAfa =
(C) areiep e wfY (D) @ |y

Which committee suggested the democratic decentralization in

India ?

(A) By Rajmannar Committee

(B) By Balwant Rai Mehta Committee
(C) By Ashok Mehta Committee

(D) By Chandra Committee

73 d QR AMeT gRT 11d] LAl H Ui RIS ATl Bl feba
F Y W g ?
(A) 97 (B) 66

(C) 47 (D) 29

How many functions have been assigned to Panchayati Raj
institutions in the 11" schedule by the 73™ constitutional

amendment ?
(A) 97 (B) 66

(C) 47 (D) 29

Afe= Fene &1 ufehar &1 quig fhar Ty g —

21



46.

47.

(A) 3Tz 370 H (B) arJeeis 368 H
(C) ez 356 H (D) 3 =R 352 H

The process of constitutional amendment has been described in -
(A) Article 370 (B) Article 368

(C) Article 356 (D) Article 352

HIErTe IRl fdare ¥ Jdiea =t | {6 favg wR g fear o ?
(A) dHT HIfoTd ATTBRI H HeeT T8l PR Fehell

(B) atfergfc & Rigra @ w&ferd @

(C) woq WfaerT & el M B |MET &l B Ahchl

(D) 4o ISR A ¥ Hafe @

In Keshvanand Bharati case, the Supreme Court gave a Verdict

on which subject ?

(A) Parliament cannot amend fundamental rights

(B) Relates to the principle of compensation

(C) Parliament cannot modify the basic structure of the constitution

(D) Relates to Bank Nationalization Act

"3 foradl” gRad & oRgd B § 7

(A) Sio TH0 e G ERL]

22



48.

49.

(C) wier (D) #ra=d
Who is the author of the book ‘On Liberty’ ?
(A) J. S. Mill (B) Bentham

(C) Plato (D) Marx

A WA S~ BT ®, fbvg WdA g8 gl § §er gor g |7 e

FET ?
(A) BT (B) @@
(O3l (D) #rad

“Man is born free but everywhere he is in chains”, who said ?

(A) Hobbes (B) Lock
(C) Rousseau (D) Marx

el 7 1 geg BT AT fod aref # fasar ?
(A) BT =g (B) Rrorifaes =g
(C) anfdis = (D) =fde =

In what sense did Plato use the word Justice ?
(A) Legal Justice (B) Political Justice

(C) Economic Justice (D) Moral Justice

23



50.

51.

52.

FEfeRad & 9 b SMER W Th <A &1 ANTRGAT U DI ST Hebell
8?

(A) Friea fram (B) 5T

(C) TP AT (D) Swiaa Y

On which of the following basis citizenship of a country can be

obtained ?
(A) Permanent residence (B) Birth
(C) Government Job (D) Above all

RO ANTRGAr S| we arika fbar a7 ?
(A) 1950 H (B) 1952 #

(C) 1955 ® (D) 1958 H
When was the Indian Citizenship Act passed ?
(A) In 1950 (B) In 1952
(C) In 1955 (D) In 1958

faeg srfgwr faaw fow fafsr & 79— ST 8 2
(A) 30 S (B) 24 3rdceR

(C) 2 3rFcaR (D) 10 fed=R

On which date is World Non-Violence Day observed ?

24



53.

54.

55.

(A) 30" January (B) 24™ October
(C) 2™ October (D) 10" December

2003 & 924 WINEE - WRAY WA B Sl AT H DIA—AT AT
Sl 7 7

(A) SFTa (B) #fre

(C) GeIredt (D) areT

The 92" Amendment of 2003 has added which language to the

eighth schedule of the Indian constitution ?
(A) Dogri (B) Maithili

(C) Santhali (D) Bodo

TRd ¥ gRd Hifd & W6 dIF © ?
(A) THO THO ETHIATA (B) 3reias HEal
(C) Jo IR0 1d (D) 37H & P =l

Who is the father of Green Revolution in India ?
(A) M .S. Swaminathan (B) Ashok Mehta

(C) U.R. Rao (D) None of these

IR AT BT PRATeAd Fal Red & ?

(A) =T (B) foran

25



56.

57.

(C) fazrm (D) iR

Where is the headquarters of the International Court of Justice

situated ?
(A) Hague (B) Geneva
(C) Vienna (D) Oslo

goTTd ® Af e RIS 1984 # fhgd! 8T BT HROT g7 7
(A) gfeexT iR (B) xrofig w7
(C) HereHr Tl (D) SWRIdd & I Pl &}

Military action in Punjab led to the assassination of whom in 19847
(A) Indira Gandhi (B) Rajiv Gandhi
(C) Mahatma Gandhi (D) None of the above

1966 T dT¥Ih—a AHSIAT fbT <20 & &I gafm ?

(A) TRA—TTf T (B) s™R&T—+
(C) T\ —urfe™ (D) SWRIad § | BIg &l

The Tashkent Agreement of 1966 was signed between which

countries ?
(A) India-Pakistan (B) America-China

(C) China-Pakistan (D) None of the above

26



58.

59.

60.

2009 BT SR HHTH Hal gair off ?
(A) Tldpeg™ H (B) RaT €1 oI=RT H
(C) Farer # (D) PR A

Where was the 2009 climate conference held ?
(A) In Stockholm (B) In Rio de Janeiro
(C) In Kyoto (D) In Copenhagen

e yRYg & b AR BT FvefdR urea g ?
(A) 15 (B) 5

(C) 10 (D) 20

How many members of the security council have the right to Veto?

(A) 15 (B)s
(C) 10 (D) 20

f=forRad § 9 &9 <8 & e T8l © ?
(A) Rd (B) urfdrar=
(C) Sve™fR D)EIGE

Which among the following is not a member of the SAARC ?
(A) India (B) Pakistan

(C) Indonesia (D) Sri Lanka

27



61.

62.

63.

1974 ¥ WA = 3fU] Ul URHIY] YRIETOT hal fhar o ?
(A) SrbrR H (B) Urax= ¥
(C) fastige # (D) framsm &

Where did India conduct its first nuclear test in 1974 ?
(A) Bikaner (B) Pokhran

(C) Mirzapur (D) Trivendrum

graxellel 98IV &l W g9 9 fhad § ?

(A) FTHET T A=A A GERERESE

(C) e r<red ¥ (D) w¥ul wifa A
Sunderlal Bahuguna is related to which of the following ?
(A) Narmada Bachao Andolan (B) Operation Flood

(C) Chipko Andolan (D) Total Revolution

1955 DT I AT Hal gl off ?
(A) gveHRRT (B) sfeiadt
(C) 9Rd (D) urfeh=r=

Where was the Bandung Conference of 1955 held ?
(A) Indonesia (B) Sri Lanka

(C) India (D) Pakistan

28



64.  URA H I8 YO & WY H I O SId & 7

(A) HETHT T (B) uf$d Starer ofrel A8

(C) SR Jeot¥ 1§ Ul (D) sTH & PIg T2l
Who is known as the ‘Iron Man of India” ?
(A) Mahatma Gandhi (B) Pt. Jawahar Lal Nehru

(C) Sardar Vallabh Bhai Patel (D) None of these

65. IR &9 e+ U fafdre aifdavor 2
(A) |1 T (B) TR < b
(C) Tgad T AE Bl (D) 3R @1
International Labour Organisation is a specialised agency of :
(A) SAARC (B) European Union

(C) United Nations Organisation (D) ASEAN

66.  TATIRIT W 9§ fbd 5T &1 FFHI0T 9191 & SR WR FT81 g3l o7 ?

(A) FERTS, (B) TTomTa

(C) 31 U< (D) STRIETS
Which of the following states was not formed on linguistic basis?
(A) Maharashtra (B) Gujarat

(C) Andhra Pradesh (D) Uttarakhand

29



67.

68.

69.

fre a9 gfdes Isgh 9 AT B RuAT @ off ?
(A) 1947 (B) 1948

(C) 1949 (D) 1950
In which year was NATO established by the western nations ?
(A) 1947 (B) 1948
(C) 1949 (D) 1950

e FRU G & UM RRIR FRIel & 37edel did o ?

(A) STATER oIl F8% (B) 3fegel ATRR
(C) gavn (D) mrefer e

Who was the chairperson of the first Summit of Non-Aligned

Movement ?
(A) Jawahar Lal Nehru (B) Abdul Nasser
(C) Sukarno (D) Marshal Titto

ofd g & SRM SHAT BT UDHIDROT [ a¥ H gar o ?

(A) fea=R 1989 (B) Rr=R 1990

(C) 3facsr 1990 (D) STTe’l 1991
During the Cold War in which year Germany was united ?

(A) Dec. 1989 (B) Sept. 1990
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70.

71.

72.

(C) Oct. 1990 (D) Jan. 1991

JIRTSET 3T FHoll AMTHROT BT RATIAT Ha gg ol ?
(A) 1956 (B) 1957

(C) 1958 (D) 1959
When was International Atomic Energy Agency established ?
(A) 1956 (B) 1957
(C) 1958 (D) 1959

LA BT ARBR DI fbd g9 o] g o7 ?
(A) 2002 (B) 2003

(C) 2004 (D) 2005
In which year Right to Information Act was implemented ?
(A) 2002 (B) 2003

(C) 2004 (D) 2005

IR U Wad Q¥ fbd a9 gar ?
(A) 1970 (B) 1971

(C) 1972 (D) 1973
Which year was Bangladesh become an independent country ?

(A) 1970 (B) 1971
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73.

74.

75.

(C) 1972 (D) 1973

"SI STaTE S e &1 A7 feae fear e ?
(A) rsira i (B) ofTel 98TgR oA
(C) sfra=r wteht (D) ARRoA 24rg

Who had given the slogan “Jai Jawan Jai Kisan” ?
(A) Rajiv Gandhi (B) Lal Bahadur Shastri

(C) Indira Gandhi (D) Morarji Desai

1885 H fhdl RISHIfCIe Gl T RATUAT gg o ?
(A) TRTT T DI (B) gRem o
(C) AR ST a1y (D) ST uret

Which Political Party was set up in 1885 ?
(A) Indian National Congress (B) Muslim league

(C) Bhartiya Janta Party (D) Janta Party

fha PR Irgufcs d1 2009 # @M BT Aldel REDBR Yo fbar Tan

or ?
(A) TIH SNETT (B) faa1 faeiest
(C) st gar (D) T & B e
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76.

77.

78.

Which American President was awarded with Nobel Peace Prize

in 2009 ?
(A) Barack Obama (B) Bill Clinton
(C) George Bush (D) None of these

IR H g e Nfa fbd oy g% & g ot ?
(A) 1990 (B) 1991

(C) 1992 (D) 1993
In which year New Economic Policy was started in India ?
(A) 1990 (B) 1991
(C) 1992 (D) 1993

“grereivs &E uRyg” fhg o # Rerg 7 7
(A) 314 (B) ATIeivS
(C) werera (D) fAsiRH

In which state is the “Bodoland Territorial Council” located ?
(A) Assam (B) Nagaland
(C) Meghalaya (D) Mizoram

URATY] AR e UR fHF Q¢ 7 WIER 8 by § ?
(A) X (B) ST BT
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79.

80.

(C) 9rka (D) =

Which country has not signed the Nuclear Non-Prolifiration

Treaty?
(A) Iran (B) North Korea
(C) India (D) China

SMR®T H dos o8 Aex W AT B fHaT AT o ?
(A) 9 Ryaw=R, 2001 (B) 11 Rye+R, 2001
(C) 9 RyawR, 2002 (D) sTH & PIg 2l

When was the world Trade Centre in America attacked ?
(A) 9 Sept. 2001 (B) 11 Sept. 2001
(C) 9 Sept. 2002 (D) None of these

qRA # 319 fobaw 57 & ?
(A) 26 (B) 28

(C) 30 (D) 29
How many states are there in India now ?
(A) 26 (B) 28

(C) 30 (D) 29
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81.

82.

83.

fha ay # fdvq AMUR HTST BT WU g ?
(A) 1945 (B) 1965

(C) 1975 (D) 1995
In which year was World Trade Organisation established ?
(A) 1945 (B) 1965
(C) 1975 (D) 1995

Agad g fagd b fAfer &1 A7=man Smar 8 2
(A) 12 ST (B) 15 31T=<

(C) 30 v (D) 24 31
When is United Nations Day observed ?
(A) 12" January (B) 15™ August

(C) 30" June (D) 24™ October

R oTet i wRd 3R 91 § 9 b9 <o & 49 88 7
(A) TTfhE= (B) siretat
(C) BT (D) 9=

Indus river water treaty was signed between India and which of the

following countries ?

(A) Pakistan (B) Sri Lanka
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84.

85.

86.

(C) Afghanistan (D) China

gfold &Y IR e T9T8 Ts 21 ?
(A) 1950 (B) 1961

(C) 1965 (D) 1960
When was the Berlin wall built ?

(A) 1950 (B) 1961
(C) 1965 (D) 1960

TS WY he sweRd gg o ?
(A) 1995 (B) 1997

(C) 1998 (D) 2002
When was the Kyoto treaty signed ?

(A) 1995 (B) 1997
(C) 1998 (D) 2002

JeqIHRoT fhg faRyRT W SmemRd 8 ?
(A) |HTSTaT] (B) ar=qare

(C) Sarare (D) SRTSThATATS
Globalization is based on which ideology ?

(A) Socialism (B) Communism
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87.

88.

89.

(C) Liberalism (D) Anarchism

HAT BRIHA B YwATT [hdD gRT BT 75 off ?

(A) 3rcd f98R areiudl gl (B) T=HHR TSRT g

(C) 7vHres R g (D) v=0 0 Td ST gRT
By whom was the ‘MGNREGA’ program launched ?

(A) Atal Bihari Bajpayee (B) Indra Kumar Guijral
(C) Man Mohan Singh (D) H. D. Deve Gowda

TRA ¥ Ufdeg Aemel & faurR &1 w9 fea fhar ?

(A) o g9 (B) STarevelrd g%

(C) oITeT F8TgR el (D) sfve=T e
Who supported the idea of committed bureaucracy in India ?
(A) Rajendra Prasad (B) Jawahar Lal Nehru

(C) Lal Bahadur Shastri (D) Indira Gandhi

AR & fhg vTog § Smar § 7
(A) HBRTSS (B) TolRTa
(C) VST (D) ®HC®

In which state does Saurashtra region fall ?

(A) Maharashtra (B) Guijarat
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90.

91.

92.

(C) Rajasthan (D) Karnataka

IBT A I BT Th INMdbare]l GieT g 2
(A) #iietaT &1 (B) urfdT T

(C) 9 &1 (D) o &I
ULFA is a terrorist organisation of which country ?
(A) Sri Lanka (B) Pakistan

(C) India (D) Russia

“TfgeTal BT Frdoifd &5 H B B Bl bR 81 2| fhda Har?

(A) wier (B) 3R]
(C) foret (D) wrerd

“Women do not have the right to work in the Public Sector.” Who

said ?
(A) Plato (B) Aristotle
(C) Mill (D) Marx

YRGS AT 919 fba 7<) R Rerg & ?
(A) 7T (B) B

C |detat (D) g
On which river is the Bhakhra Nangal Dam situated ?
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93.

94.

95.

(A) Ganga (B) Kaveri
(C) Sutlej (D) Sindhu

faeq #fgen a9 &9 7937 ST & 2
(A) 10 feT=R @ (B) 8 {1 T
(C) 01 faa=R &l (D) 2 3rFER Bl

World Womens’ Day is observed on which date ?
(A) On 10" December (B) On 8" March

(C) On 01 December (D) On 2" October

sTH ¥ e gel gR &I I =T ?

(A) A (B) i &
(C) ST (D) 3rRar

Which of these adopted an Open Door Policy ?

(A) China (B) The European Union

(C) Japan (D) America

QYT AT B FeH Uge B <97 A BT ?

(A) TreTe (B) o
(C) res+a (D) gdf -

Which country left the Versailles treaty first ?
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96.

97.

98.

(A) Poland (B) Yugoslavia
(C) Albania (D) East Germany

R HY DI IO He gg oAl ?
(A) 1957 (B) 1992

(C) 2005 (D) 2006
When was the European Union established ?
(A) 1957 (B) 1992

(C) 2005 (D) 2006

AT FHSI] WR fhd 99 gwaer gy ?
(A) 2004 (B) 2006

(C) 2007 (D) 2008
In which year was the ‘SAFTA’ agreement signed ?
(A) 2004 (B) 2006

(C) 2007 (D) 2008

1972 &1 Rmen |Hsiian fb9 a1 <2l & 4= gan ?

(A) 9Rd 3R ATl (B) wRa 3iR urfpeam

(C) wRA 3R qivarey (D) urfham iR e
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99.

100.

The Shimla Agreement of 1972 was signed between which two

countries ?
(A) India and Nepal (B) India and Pakistan
(C) India and Bangladesh (D) Pakistan and Bangladesh

SERT BT AT Fel & ?
(A) T2 faeeh (B) BIeIbra

(HSSILICIE (D) BroHTTg,
Where is the headquarters of SAARC ?

(A) New Delhi (B) Kolkata

(C) Islamabad (D) Kathamandu

HYT I FH D] WATUAT He gg ol ?
(A) 1920 (B) 1945

(C) 1948 (D) 1949
When was United Nations organisation established ?

(A) 1920 (B) 1945

(C) 1948 (D) 1949
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Huvs—9 / Section-B

oY S 9349 (Short Answer Type Questions)

U W& 1 9§ 30 Y SN 2| Rl 15 Ul & SR | IS U B folg 2
i ufRa g | 1fdreaH 50 vl § SR T | (15x2=30)

Question no. 1 to 30 are short answer type. Answer any 15 questions. Each
question carries 2 marks. Answer in not more than 50 words.

(15x2=30)

1, pr Rifsde @1 sl gard |

Explain the meaning of Congress Syndicate.
2. fg—rse Rigr @1 & ?

What is Two-nation theory ?
3. fafqerar # vhar | ey @ FHed € ?

What do you mean by ‘Unity in Diversity’ ?
4 e < a7 7 7

What is economic Justice ?
5. Yretl ifa’ T & ?

What is ‘Yellow Revolution’ ?

6. IZECT IaRAT RAT § 2
What is multi-party system ?

7 el goifa s & T Eed 8 ?

42



10.

11.

12.

13.

14.

15.

16.

17.

What do you mean by direct democracy ?
YAvSAT Ao T 27

What is global warming ?

ATRH GRET T B°

What is ‘collective security’ ?
YAVSATHRUT RIT B°

What is Globalisation ?

UG | MY FIT WS © ?

What do you mean by Pollution ?
gl T ® 7

What is Panchsheel ?

STA—IGYHT FIT § ?

What is water pollution ?

HRT &I URATOGS T T 8§ 7
What is India’s nuclear policy ?
oI gg o1 ypfd gard ?

Write the nature of Cold War ?

1992 & Jed ST @ He<d aan |

Describe the importance of “Earth Summit” of 1992.

YRA ¥ Eferd oI & J&g o 9a] |

Describe the main elements of dalit politics in India.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

el w1 ® ?

What is NATO ?

ATYETRIGAT T & ?

What is communalism ?

JTIIRVT B AHRIGTS JHTdl BT gy |

Describe the positive impact of Globalization.

ISTAS U 1= H a7 ek © 7

What is the difference between a monarchy and a republic ?
¥qd ifd T 7 ?

What is White revolution ?

ATRATS] Jffeawer iR gollard] sfeieawell # 3fdR T & |

Explain the difference between communist economy and capitalist
economy.

AR AT a7 off ?

What was the Marshal Plan ?

gl gefiror 7 § ?

What is heabeas corpus ?

rgafa &1 el erfdadl art ?

State the legislative powers of the President ?

e Afhardr «ar g ?

What is Judicial activism ?
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28.

29.

30.

T 370 ¥ ST & =Y H & 3R sHd Y UIae qaqrd?

Article 370 is in relation to which state and explain its main
provisions ?

ARTR® F@A=dT | MM T FHe & 2

What do you understand by civil liberties ?

BRI BT Urpfad g gard |

State the natural principle of rights.

" ST 939 (Long Answer Type Questions)

o AT 31 W 38 41 ST UIH B | bl 4 UTHI b SR T | YIS b foIU 5

3 MERd €1 100120 Il H SR T | (4x5=20)

Question no. 31 to 38 are long answer type questions. Answer any 4

questions. Each question carries 5 marks.. Answer in 100-120 words.

31.

32.

33.

34.

(4x5=20)

R DI TS AT H & Tl DT AT BT Foid B |
Explain the role of regional parties in coalition politics in India.
YRR Giae™ & Sl &1 fadad & |

Explain the sources of Indian constitution.

JSgUTd & HIAT Td Al Bl ATAra-dd fader o |
Critically examine the functions and powers of the Governors.
[T BHifl’ BT HATHT BN |
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35.

36.

37.

38.

Evaluate the ‘Sampoorn Kranti’.

FHR B TR W fae ford |
Write an essay on Kashmir problem.
IRA @1 WA AT &1 == o |

Discuss India’s nuclear policy.

IRA ¥ BT Uil & JIE & g & &I HRDI DI GIE0] I |

Examine the main factors for the decline of dominance of the

Congress Party in India.
3 aMfe N & Y@ F&ol T quie N |

Describe the main features of the New Economic Policy.
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